
(1)

l1
v0cosθ

(2)
−eE1

m

(3)

mv20sin2θ

el1

(4)

mv0
eB2

− h

(5)

mv0sinθ

el2

(6)

2πm

eB3

(7)

v0B3

πN
cosθ

(8)

1

4
v0NT cosθ

(9)

√
2eV

m

(10)
enR

(11)

ε0enRS

d

(12)
e2n2Δt

(
dΔt

2ε0S
+R

)

1

(3) (4) (5)

(6) (7) (8)

(9) (12)

(3) x
l1
2

y 0

v0sinθ−eE1

m
·t1
2
= 0 E1 =

mv20sin2θ

el1

(4) ev0B2 =
mv20
r2

r2 =
mv0
eB2

y r2 − h =
mv0
eB2

− h

(5) l2 = r2sinθ (4) r2 =
mv0
eB2

r2

B2 =
mv0sinθ

el2

(6) x r3

ev0sinθ·B3 =
m(v0sinθ)

2

r3
r3 =

mv0sinθ

eB3

T T =
2πr3
v0sinθ

=
2πm

eB3

(7) C vx = v0cosθ = 0 t3

v0cosθ−eE3

m
t3 = 0 t3 =

mv0cosθ

eE3

N =
2t3
T

=
v0B3

πE3
cosθ E3 =

v0B3

πN
cosθ

(8) l3 =
1

2
v0cosθ·t3

(7) t3 =
1

2
NT

l3 =
1

4
v0NT cosθ

tO t3

v0 cosθ

l3

v

(9)
1

2
mv20 � eV

v0 �
√

2eV

m

(12) C = ε0
S

d

enΔt = ε0
S

d
(V ′ − V ) V ′ =

denΔt

ε0S
+ V

1

2
CV ′2 − 1

2
CV 2 =

de2n2Δt2

2ε0S
+ e2n2RΔt = e2n2Δt

(
dΔt

2ε0S
+R

)

22023年度 大阪公立大学個別学力検査（一般選抜　公立大学中期日程）
物理「解答例」



(1)
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(4)
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(7)

(8)

(9)

(10)

(11)

(12)

 2
(4) (5)

(7) (8) (9) (10)

(11) (12)

T2
′ p2

′

0

p 2

V1V2 V3

2 3

p 5 4

1

p2(V3 − V2)

nCV (T3 − T2)

nCV (T4 − T1)

nCp(T3 − T2)

−nCV (T4 − T1)

T4 − T1

γ(T3 − T2)

T1 a
γ−1

bT1 a
γ−1

T1 b
γ

bγ − 1
γ(b − 1)aγ−1

1 1.4 

1.4 1 

(4) ( ) = (  )
− ( ) =  nCp(T3 − T2) − nCV (T4 − T1)

(5)
( )

( )
=

nCp(T3 − T2) − nCV (T4 − T1)

f = =

nCp(T3 − T2) 
T4 − T1

γ(T3 − T2)

     ② T1V1
γ−1 = T2V2

γ−1 
= T2

(9) = T4V1
γ−1

V3 = bV2 =

 (7) 

T3V3
γ−1 = (bT1 a

γ−1)

( )γ−1

= bγ T1 V1
γ−1

T4 = T1 b
γ

T4 − T1

γ (T3 − T2)
=(10) f = 

bγ − 1
γ(b − 1)aγ−1

(11)  T1V1
γ−1 = T2V2

γ−1

T1V1
γ−1 = T2′V2

γ−1 T2 = T2′

R  p2V2 = 
nRT2 p2

′V2 =1.4nRT2

 p2′ =1.4p2

(12) 1.4 
 T3

′ T4
′ T3 T4 

1.4 
a b γ 1 

② T3V3
γ−1

nCV (T4 − T1)

nCp(T3 − T2)

(7)
(
V1

a

)γ−1

T2

したがって，T2 = T1 a
γ−1

V2
(8) シャルルの法則から， =

V3

T3
=

b V2

T3

したがって，T3 = b T2 = b T1 a
γ−1

T1b
γ T1

γ (bT1aγ−1

−
− T1aγ−1)

=

(
b V1

a

b V1

a




